1. U.S. President Harry Truman and British Prime Minister Winston Churchill both
wore polka-dot bow ties while in office. A well-tied bow tie resembles two
congruent triangles. Complete the following proof: ., _‘ e
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Given: A = BD, BE = BC

Prove: AABE = ADBC
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3. The Hatfield and McCoy families are feuding over some land. Neither family will
be satisfied unless the two triangular fields are exactly the same size. You know
that Cis the midpoint of each of the intersecting segments. Complete the
following proof:.

Given: € is the midpoint of AD and BE. P &
Prove: AABC = ADEC o “Tb
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Prove: L J8L = SMEK

Given: JK = ML, 21K = £ MILE

Given: AR || ED, BC= DU
Prove: SAARD = AR
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